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>?@?A? B CDC EF GHIJ KFLMINFLO EF GPNLJMQ ROIS

T U VWXY

T ZY

y

xδ

δ = [0.1, 0.2, 0.3, 0.45]

>?@?A? B C[ C EJMQ GGO \ LJIF ]R^ LJROIS

T _X`

T aY

y

xδ

δ = [0.1, 0.2, 0.25, 0.35]

>?@?A? B CB C KF LNRO KFLMI^ IQ

T _X`

T ZU

y

xδ

δ = [0.15, 0.25, 0.4, 0.5]

>?@?A? B Cb C cF LdPRO e IPIfL

T ZgXh

T a`

y

xδ

δ = [0.1, 0.25, 0.35, 0.45]

>?@?A? B Ci C cQ IJGOIS jFkl m RJNfLJfIJROIS

T Za VnXZg

T ag

y

xδ

δ = [0.15, 0.3, 0.4, 0.45]

>?@?A? B Co C pQHRO e IPIfL qGQ rGGOIS

T Za VnXZg

T ZY

y

xδ

δ = [0.1, 0.15, 0.25, 0.35]

>?@?A? B Cs C tudL EJLNfLNIl vF GrROJL

T aa

T hXU

y

x
δ

δ = [0.15, 0.2, 0.3, 0.4]

>?@?A? B Cw C jQxL m IQ IFF K LMI^ ROIS

T Wg

T Za VnXZg

y

x
δ

δ = [0.15, 0.3, 0.35, 0.45]



>?@?A? B Cy C m zJMIzN p rRQ p OrGJkGOIS

T U VWXY

T Zh{

y

xδ

δ = [0.1, 0.2, 0.35, 0.45]

>?@?A? B CD| C }z~GJPR � GfQ KIPfRQ ROIS

T Za VnXZg

T aa

y

xδ

δ = [0.05, 0.15, 0.2, 0.3]

>?@?A? B CDDC � LdzQ jFkl KIPfRQ ROIS

T U VWXY

T ag
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δ = [0.2, 0.35, 0.5, 0.6]

>?@?A? B CD[ C e GSLGOL � RFIJL j rRQ GOJL

T U VWXY

T Zg

y

xδ

δ = [0.1, 0.15, 0.25, 0.35]

>?@?A? B CDB C v�zxRO qG^ GJ

T _X`

T a`

y

xδ

δ = [0.15, 0.3, 0.45, 0.55]

>?@?A? B CDb C �F GxLJRO EQf G^

T ZgXh

T Zg

y

xδ

δ = [0.15, 0.3, 0.35, 0.45]

>?@?A? B CDi C qGFIOLJRO EF GPNLJMQ
�IxL�FROIS

T _X`

T ag

y

xδ

δ = [0.1, 0.25, 0.35, 0.45]

>?@?A? B CDo C qfz�LP EF GPNLJMQL EF GPNGGOJL

T hXU

T ag

y

xδ

δ = [0.1, 0.2, 0.35, 0.45]



>?@?A? B CDsC qzxRO EF GPNLJMQ

T ZY

T Za VnXZg

y

x
δ

δ = [0.05, 0.15, 0.2, 0.3]

>?@?A? B CDw C �GQ GxROL � LQ rLQ IfL

T ZgXh

T U Vn

y

xδ

δ = [0.1, 0.2, 0.25, 0.35]

>?@?A? B CDy C �GQ JLJMz � LQ NGFIJz � zFIz

T hXU

T ag

y

xδ

δ = [0.1, 0.15, 0.25, 0.35]

>?@?A? B C[| C � I^ GJGN � GJMIGfL � zFIR q�NLQ

T aa

T Za VnXZg

y

x
δ

δ = [0.1, 0.2, 0.25, 0.35]

>?@?A? B C[DC � L�ROLF RO EJMQ G� p OrGJkGOIS

T _X`

T Zg

y

xδ

δ = [0.15, 0.25, 0.35, 0.45]

>?@?A? B C[[ C � L�ROLFROL � LQ Il p OrGJkGOJL

T Za VnXZg

T a`

y

xδ

δ = [0.15, 0.25, 0.4, 0.5]


